REBSOUFHEAEDHDER
%’% #ERTIR) 1/8 1/4 HERRE REE- =R
[[[=Yiva
5 s027
1 | RIGE
(1) 6
2) (1)
16 | Z1EE
4 5023 6
6 (1)
9 | dtiE
(3) (2)
(4)
8 RIINE
2 4 s022
2 (1)
5 | BERE
(5) 5 5027
(6) (3)
12 | B%FER
6 (2)
0 2
13 | KHE
©) (4)
(8) 4 5025
4 | BER
6
5
3 | ZHE
(9)
(10) (5)
14 | EER
3 1
4 5024 (3)
1M | 5F8
(11) (6)
(12) 6
6 | LWLFE
5 s029 (2)
6 5 s023
7 | AR
(13) 1
(14) (7
10 | EFE
0 (4)
2 5
15 | RAR
(15) (8)
(16) 5
2 | LER
6
B S025
B8R
(1)
(2)
IR
4 3022

2

FNEERFEERE7—F)—BEE

ER285E10H9H

Xz [KBY]

HERF FERETHRAESHNEE L H IS
RIS R R AR REE-ZRRTE|  EHEREFES 128145
12 R iR TE B .
= . . FiE B/R a—bkA7 ”
HIES | MBI EFE M6z [ 1] 2 3] a[Ra4ok] 1 | B
1 RIBGE | 85 #Ht BH FX. b5 HBE | 1 |48]53|47]|49| 4 22
2 LER Jk HEJJE KB KH 3K 2 |50|44|46]|52| 5 23 R
3L IR TE Bk
= . . FiE B/R a—bkA7 ”
HIES | MBI EFE M6z [ 1] 2 3] a[Raok] 1 [
1 FRER | MOk KE. &SR WERGE FE 12 | 53[43|49]|57] 5 25 e
2 ITEYY Bl &, RHA RKEt.HP FER 6 |48[49|50|50( 4 22
#E R B .
= . . FiE (CI=1 a—bA7D
MBS | MER R EFE Itz [ 1] 2 3] a[Ra4>k] 1 | B
1 RBGE | 85 St BH FX . h8E HB | 1 |52]54|51|53] 6 B
2 FHE R e KE.#HK SRt BF 12 |48|51]52|50[ 2
3 T Bl & ER kLt B ER 6 |50|54]48 1
4 LER Jek EE.JE KB KA FIK 2 |51]|54]52 5 i
#E /2RISR .
S (. . FiE E3= Sa—k 4D
MBS | MBR R EFE Itz [ 1] 2 3] a[R4>k] 1 | B
1 RIGE | 85 St BH FX. b8 HB [ 1 |49]48|54 6 B
2 dtimE BE BA B S 0hFH #BX 9 |35(39]47 0
3 FhE 12 gk KE. 8K Bk . FF 12 |53]|47]|52]|45| 5 27 B
4 HBEE | hlE Bt EH R.ES)N WE | 4 |47|47|52|50| 4 25
5 EHE | PO KB . RIR Z 8K E—B | 3 |45]43]|39 0
6 ITEYCY Bl &, KA Kt HP FER 6 |49(50] 46 6 i
7 Hiag gk LR, FE OK#.FE 2 7 |46]|49|47 1
8 LER Jek EE.JE KB KA FIK 2 |48|49]|53 5 i
1[E1 3 -
= | 333 : FiE e Sa—kA7
HES | MERR EFE W6z [ 1] 2 3] a[R4>k] 1 L
1 RIBFE | 8 St BH FX . b8 HB | 1 |47]52|53[49] 5 27 B
2 BRI BRI B.AF MK JE BE 16 |49|53|49|44| 4 23
3 dtiEE BE X .HE H.0hFH #Bx 9 |50]|48]|52|49| 6 B
4 AR | Bl X, B HEE.SH K7 8 |44|54|43|45| 2
5 BEARER |BH G EF X €= THABY 5 |54|45|45] 46 2
6 FHE R e KE.#HK SRt BF 12 |49|50| 54|53 6 B%
7 N Mur BEOE ORFEOEE BE 13 | 34[49] 49 0
8 FBER | I Fh EBEH R.EA)N EE | 4 |49(51]51 6 i
9 EBHE | PH K& RIR Z 8K E—B | 3 |53[53[46[45] 5 B
10 EER |dH BEE LS SR EB 58| 14 [53[46]|50[40| 3
11 EFE |HBE M. 558 R—B.HIR BRI 11 |47]|46|53|45| 4 24
12 0= Bl &, KA kKt HP FER 6 |50[44]|49|50[ 5 29 B%
13 b ian £ LA, FE KR, F B 7 |49 46|51 6 B
14 EHRE |0y 5. 50 EH. X [EABB| 10 |45[41]50 0
15 BIEE | /I B RES FKBA. KPE $REE | 15 |44([50] 48] 31 2
16 LEBER Jk EJJE KB KW 3K 2 |49|49|50]|55| 6 %
AR BT
=i’ . . FESOR RS IR
I | FERTR wFA B | BE | — DB | Exms| E R — e Bl R
1 LEE Jtok B ¥E K. K FIX 2 1852 | 649495055 5 (48,4953,0)| 5 (5154520 5 T23(5044.46,52)
2 EBE | 58 #%th BH ZX HE #iF 1 1892 [svemnszsoas| 6 (49,48.540)] 6 2545150 4T22(48,53.47.49)
3 B E N KE.HAK ST FF 12 1766 |6 @9505459)| s T2rs0475249 | 2 (48.51,52.50)| s Tasisasassn
4 =t B & .EA &L .HBH FER 6 1804 |5 mesosasssol 6 (49,50,46,0)| 1 (50.54.48.0)| 4 228 405050
5 HEE | U Fth,EBEH R.EA)N EE | 4 | 1820 |cwesisiofsmswas
6 HRE Ef LA, B% K. FE 2= 7 | 1788 |ewesssiof1ass9ar0)
7 FHE P KEg,. R E HAK %—E‘H 3 1835 |5 635346450 (454339,0)
8 dtiEE E A B H.NF 8K 9 1783 |6 0485249 0(3539,47,0)
9 BEE EANIl B, AR MK JE #ME 16 | 1746 |+mmussains
9 EFR |HE BB B R—ECHIR BE| 11 | 1771 |omwese
9 EER |th#H BEE. LS RO B 58| 14 | 1759 |scaesdo
9 BRAR |BH RK EH XM E€F THAB 5 | 1818 [2cimsw
9 AINER | B #®iG. B KE.SH EF | 8 | 1785 |2wsaus
9 BREAN | /R B RES JSABA. KPE JREE | 15 | 1753 [2@wsesan
9 EHR |y 2% .5H BH. X% EXER| 10 1780 [ow@s41500
9 KN & Mo 2k RECEA 5 13 | 1765 |oweassc0
17 |#RNE| BAf BER HFLE B2NH.E BR[| 17 | 1745
18 EHE | 8K MR KB K FE | 18 [ 1732
19 i LU 2 b Ak, Sk EBHLfEE R 19 | 1729
20 EEE | EA) [ 80 8. FH E4H5 | 20 | 1711
21 BER | Tl EA.FH FL.BR B=F | 21 | 1703
22 EWE | 8 £ EX K. MW EL | 22 | 1669
23 ABRAF | [ElE fst, EBE B, KARN &% | 23 | 1615
24 | EBR & a8 IRE HHE. BFE K 24 | 1530




